
KMC30X 
KMC30BI
KMC30NE

KMC36X
KMC36BI
KMC48NE

KMC48X
KMC48BI
KMC36NE

Installation Instructions
Use and Care Information

Instructions d'installation
Utilisez et d'entretien









5

RANGEHOOD DIMENSIONS

KMC30X
KMC30BI
KMC30NE
KMC36X
KMC36BI
KMC36NE

KMC48X
KMC48BI
KMC48NE

18-1/16''

11-13/16''

7-7/8''

20
-1

/2
''

M
IN

 A
S

 2
1-

7/
8'

'- 
M

A
X

 A
S

P
 3

6'
' 

M
IN

 R
E

C
 2

5-
3/

8'
'- 

M
A

X
 R

E
C

 3
9-

15
/1

6'
'

12
-5

/8
''

29-7/8''  -  35-13/16''

Created by Latini, Francesco

Denomination

DIMENSIONAL DRAWING 30-36''

Lang EN Sheet 1 /2
Modif.by  

Approved by 

Approval date 

Doc. status 

Drawing N.
321033_724

Rev
01

47-7/8'' 18-1/16''

15-3/4''
7-7/8''

20
-1

/2
''

M
IN

 2
1-

7/
8'

'-M
A

X
 3

9-
15

/1
6'

'

12
-5

/8
''

Created by Latini, Francesco

Denomination

DIMENSIONAL DRAWING 48''

Lang EN Sheet 1 /2
Modif.by  

Approved by 

Approval date 

Doc. status 

Drawing N.
321033_734

Rev
01



6

Min. 24" Min. 30"



7

MAIN PARTS
KMC30X - KMC30BI - KMC30NE

Components
Ref.	 Qty.	 Product Components
1	 1	 Hood Body, complete with: 
		  Controls, Light, Filters, Blower.
2	 1	 Telescopic Chimney comprising:
2.1	 1	 Upper Section
2.2	 1	 Lower Section
3	 1	 Angle bracket
10	 1	 Damper ø 5 7/8"
10e	 1	 Support connection for recirculating
9	 1	 Connection
		  for recirculating comprising:
9.1	 1	 Connection for recirculating 
9.2	 1	 Spacer connection for recirculating 
9.3	 1	 Spacer connection for recirculating 
8	 1	 Recirculation Vent Grill 
Ref.	 Qty.	 Installation Components
7.2.1	 2	 Upper Chimney Section
		  Fixing Brackets
12a	 8	 Screws 3/16" x 1 15/16"
12b	 4	 Screws 1/8" x 3/8"
12d	 6	 Screws 1/8" x 1/4"
12e	 2	 Screws 1/8" x 3/8"
12f	 2	 Screws 1/8" x 1/2"
	 Qty.	 Documentation
	 1	 Instruction Manual

10e

9.2 9.1
9.3

10

12e 12d 12b 12a

8

1

2.1

2.2

7.2.1

3

12f

Available Accessories

- Recirculation Vent Kit - Activated 
Charcoal Filter - sku# FILTER1
- Washable Long Lasting Charcoal Filter 
Kit - sku# FILTER1LL
- Wireless Remote Control Accessory - 
REMCTRL2

Parts needed

-	 6" Round Metal ductwork.



8

MAIN PARTS
KMC36X - KMC36BI - KMC36NE

10e

9.2 9.1
9.3

10

12e 12d 12b 12a

8

1

2.1

2.2

7.2.1

3

12f

Components
Ref.	 Qty.	 Product Components
1	 1	 Hood Body, complete with:
		  Controls, Light, Filters, Blower.
2	 1	 Telescopic Chimney comprising:
2.1	 1	 Upper Section
2.2	 1	 Lower Section
3	 1	 Angle bracket
10	 1	 Damper ø 5 7/8"
10e	 1	 Support connection for recirculating
9	 1	 Connection
		  for recirculating comprising:
9.1	 1	 Connection for recirculating 
9.2	 1	 Spacer connection for recirculating 
9.3	 1	 Spacer connection for recirculating 
8	 1	 Recirculation Vent Grill 
Ref.	 Qty.	 Installation Components
7.2.1	 2	 Upper Chimney Section
		  Fixing Brackets
12a	 10	 Screws 3/16" x 1 15/16"
12b	 4	 Screws 1/8" x 3/8"
12d	 6	 Screws 1/8" x 1/4"
12e	 2	 Screws 1/8" x 3/8"
12f	 2	 Screws 1/8" x 1/2"
	 Qty.	 Documentation
	 1	 Instruction Manual

Available Accessories

- Recirculation Vent Kit - Activated 
Charcoal Filter - sku# FILTER1
- Washable Long Lasting Charcoal Filter 
Kit - sku# FILTER1LL
- Wireless Remote Control Accessory - 
REMCTRL2

Parts needed

-	 6" Round Metal ductwork.



9

MAIN PARTS
KMC48X - KMC48BI - KMC48NE

10

12e 12d 12b 12a

8

1

2.1

2.2

7.2.1

3

Components
Ref.	 Qty.	 Product Components
1	 1	 Hood Body, complete with: 
		  Controls, Light, Filters, Blower.
2	 1	 Telescopic Chimney comprising:
2.1	 1	 Upper Section
2.2	 1	 Lower Section
3	 1	 Angle bracket.
10	 1	 Damper ø 5 7/8"
8	 1	 Recirculation Vent Grill 
Ref.	 Qty.	 Installation Components
7.2.1	 2	 Upper Chimney Section Fixing
		  Brackets
12a	 10	 Screws 3/16" x 1 15/16" 
12b	 4	 Screws 1/8" x 3/8"
12d	 6	 Screws 1/8" x 1/4"
12e	 2	 Screws 1/8" x 3/8"
	 Qty.	 Documentation
	 1	 Instruction Manual

Available Accessories

- Recirculation Vent Kit - Activated 
Charcoal Filter - sku# FILTER1
- Washable Long Lasting Charcoal Filter 
Kit - sku# FILTER1LL
- Wireless Remote Control Accessory - 
REMCTRL2

Parts needed

-	 6" Round Metal ductwork.



10

Non Ducted - Recirculation Option

Requires 
purchase of 
Activated 
Charcoal 
Accessory.

Horizontal

Vertical

12

19

6"

6"

Choose your ducting method
INSTALLATION WITH THE CHIMNEY

Ducted Venting Installation



11

Choose your ducting method
INSTALLATION WITHOUT THE CHIMNEY

Non Ducted - Recirculation Option

Requires purchase of Activated Charcoal Accessory

When used in recirculation mode, To Reduce 
the Risk of Fire and Shock use only conversion 
kit Model FILTER1 or FILTER1LL.

Ducted Venting Options Installation

6"
Rear

2622




















































































































